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oX|=o oXP=o o XM=o oXlc=o oXQd=o
IX1=1 | IXP=P | IXP=P | IXE=E | 1X0=0
PX1=F | PXP=E | PXP=§ | PXE=A | PX0=lo
BX 1=l | PXP=§ | PXP=9 | PXE=IP | PX0=10
EXI=E | EXP=A | EXP=1PF | EXE=15 | EXO=Fo
OX1=0 | OXP=1o | OXP=10 | OXE=Fo | OXO=P0
§X1=5 | §XP=1P | §XP=1A | §XE=PE | §xO=Po
VX1=V | VXP=1E | VXP=P1 | YXE=PA | VXO=F0
AX1=A | AXP=15 | AXF=PE | AXE=PP | AXO=Fo
AIX1=9 | AXP=1A | IXP=PV | OXE=F5 | IX0=FO
loXI=10|loXP=Fo | loXI=o | |oXE=Fo| |oXd=0o0
oX%=o oXVY=o oXA=o oX9=o0 oX)|o=o
I X7=% | XY=V | XA=A 1X9=19 1X1o=]o
PXe=1P PXV=1I° PXA=1% PXa=1A PX1lo=Fo
PX7=1A PXV=F1| PXA=PIe PX9=PV | X | o=WMo
EXy=PI EXV=PA EXA=PP EXa=M9 FX1o=l¢0
OXF=Po | OXV=PO | OXA=Fo | OXI=K® | OX1o=o
TX7=7 FXV=IcP 7 XA=IFA 7 X9=01° 7X1lo=%o
VX7 =I°P YXV=19 VXA=0Y VX9=7F | YX1o=Vo
AXT=FA AXV=0% AXA=%1 AX9=VP AX 1 o=Ao0
IX$=0F | IXV=$F | AxA=VF | AX3=Al | 9x1o=9o
loX9=%0 | 1oXV=Vo | |oXA=Ao | 10X9=90 | loXlo=loo




